
Jon  Snow’s  Family  Tree 

International  hints 

The answer is the brand name 

Also Portugal’s position relative to the rest of Europe 

Ringo = Ringo Starr 

Used to pay for things, not cash or card 

The opposite of the defendant 

Location of toes + a chair with no back 

More specifically, a boat driver 

An old boy + part of a suitcase used to carry it 

Look at the code sheet! 

Also the name of a small computer: _________ Pi 

Fourth element 

Symbolized by a circled “C” 

A performer with good balance would walk here 

Each of these series has three movies 

The numbers one to twenty surround it 

like all the letters in this clue 

Secretly listening 

Large footwear with webbing like a tennis racquet 
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